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g graphs appears to be a function?
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If f(x) = (x-3) +1, whatis [(6)?
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Which number is NOT an element in the domain of this relation?
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{ (—5, 9)' (ZI 31)’ (9, 143)' (ul 151)’(“’ 42)’ (5, 97)}

Using the equation of the line of best fit, which number is the best prediction of the output when
theinputis 137 gt \{zq,mmz.qs
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u=3x+h
e 2=9, 75171163
b=42, 95437262

a=9, 785171183
JD IR b=42. 95437262

9.79C132+42,.93
178.22
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A data set has a mean of 720 and a standard deviation of 6. Which is closest to the z-score for an
element of this data set with a value of 709 ?
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Ramon drew box-and-whisker plots to Pages per Chapter
summatize the number of pages in each Bookl  P——__ [}
chapter of two books. The values of the
interquartile ranges for these box-and-whisker
plots are the same Which box-and-whisker
plots could represent these data?
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